

Available online at www.qu.edu.iq/journalcm

JOURNAL OF AL-QADISIYAH FOR COMPUTER SCIENCE AND MATHEMATICS

ISSN:2521-3504(online) ISSN:2074-0204(print)



Exponentially Semi E -preinvexity: Properties and Applications

Saba Naser Majeed^a

Department of Mathematics, College of Education for Pure Sciences Ibn Al-Haitham, University of Baghdad- Iraq.

E-mail: saba.n.m@ihcoedu.uobaghdad.edu.iq

ARTICLE INFO

Article history:

Received: 30 /11/2024

Revised form: 16 /1/2025

Accepted : 2 /2/2025

Available online: 30 /3/2025

Keywords:

E -invex set

exponentially E -preinvex function

exponentially semi E -preinvex function

exponentially quasi semi E -preinvex function

ABSTRACT

Generalized exponential convexity has been one of the most important concept in generalized convex analysis, not only because of its structural properties used to relax convexity assumptions, but also because of its various applications in applied fields, especially in mathematics and optimization theory. In this paper, a class of two types of generalized convex functions is introduced, namely exponential semi E -preinvex functions and exponentially quasi semi E -preinvex functions. Several insights are presented, starting with providing a necessary and a sufficient condition for a function to be semi E -preinvex function. Also, several general algebraic properties of these functions are established. Moreover, various characterizations and conditions are provided to relate these functions to their levels and graph sets. Finally, some optimality properties for nonlinear optimization problems with exponentially E -preinvex functions, exponentially semi E -preinvex functions and exponentially quasi semi E -preinvex functions are shown. Two examples are presented to illustrate the new functions developed in this work.

MSC..

<https://doi.org/10.29304/jqcm.2025.17.12036>

1. Introduction and Preliminaries

Convexity and generalized convexity of sets and functions are considered to be the most important effective tools for dealing with many concepts in applied mathematics, especially in optimization [18, 22, 24, 27, 37, 39]. Dealing with convex sets and functions to create optimization problems leads to some limitations in application [9]. Therefore, extensive research is being carried out to overcome these limitations by relaxing the convexity assumptions through many interesting generalized convex sets and functions. The class of preinvex functions, first introduced in [4, 10] and so named in [14], is considered as one of the most important generalizations of the class of convex functions by relaxing the convexity condition through the action of a mapping $\rho: \mathbb{R}^n \times \mathbb{R}^n \rightarrow \mathbb{R}^n$. Preinvex functions are usually defined on a generalized convex set, which is called an invex set. This is first defined on subsets of the real numbers [40] and then extended to subsets of the n -dimensional space [26]. Further research has explored preinvexity and its applications in optimization theory. For example, see [5, 16, 17, 20, 28, 29] and the references therein.

*Corresponding author: Saba Naser Majeed

Email addresses: saba.n.m@ihcoedu.uobaghdad.edu.iq

On the other hand, the class of E -convex sets and E -convex functions is introduced as another class of generalized convex sets and functions [41]. In the class of E -convexity, a mapping $E: \mathbb{R}^n \rightarrow \mathbb{R}^n$ is introduced as the main tool to relax the convexity assumption. E -convexity motivated Youness and his collaborators and many other researchers to study this class in depth and extensively with its applications to optimization problems (e.g., [11, 19, 25, 38, 42]). For example, the class of E -convex functions and its applications have been generalized to a new class that includes semi E -convex, quasi semi E -convex and pseudo semi E -convex functions [6].

By combining preinvex and E -convex functions, the class of E -preinvex functions on E -invex sets is defined in [8]. Following [8] and Chen [6], many researchers have further studied semi E -convexity and E -preinvexity then introduced semi E -preinvex functions and their generalizations [1, 7, 12, 15, 21, 43].

Recently, a new class of exponentially convex functions has been developed as a further generalization of convex functions. The functions of this class have various applications in applied fields such as information theory, data analysis, machine learning, and statistics [3, 36]. The applications of this class in mathematics and optimization problems are presented in [13, 30-34]. The study of exponentially convex functions motivates researchers to generalize this class into new classes, such as the class of exponentially preinvex functions [35], the class of exponentially E -convex functions [2], and more recently the class of exponentially E -preinvex functions [2]. In these exponentially generalized convex function classes, various general and optimality properties for single and multi-objective optimization problems have been investigated.

The aim of this work is to continue the ongoing research on exponentially generalized convexity. Thus, the class of exponentially semi and quasi semi E -preinvex functions defined on E -invex set is introduced and various properties and characterizations for these functions are obtained. As an application to optimization problems, some optimality properties of nonlinear optimization problems are discussed. The paper is organized as follows. In the remainder of this section, we recall introductory concepts related to some generalized convex sets and convex functions. In section two, we introduce the definition of exponentially semi and quasi semi E -preinvex functions and construct two examples to illustrate the new functions. We also show necessary and sufficient conditions for a function to be semi E -preinvex. Later in the second section, we discuss some algebraic properties related to the new class. In addition, a number of properties and characterizations of exponentially semi and quasi E -preinvex functions are studied in detail using various of their level sets and epigraph sets. Section three is devoted to the application of this class of functions and the class of exponentially E -preinvex functions [2] to obtain some optimality conditions for nonlinear optimization problems.

We begin by fixing some needed preliminaries. Let $K \subseteq \mathbb{R}^n$ be a non-empty set and $f: K \subseteq \mathbb{R}^n \rightarrow \mathbb{R}$, Assume also that $E: \mathbb{R}^n \rightarrow \mathbb{R}^n$ where $E(k)$ is written as Ek and $\rho: \mathbb{R}^n \times \mathbb{R}^n \rightarrow \mathbb{R}^n$ are two given mappings. The identity mapping is defined as $I: \mathbb{R} \rightarrow \mathbb{R}$.

Definition (1.1) [26]. A set K is called invex with respect to ρ (for short, K is invex set), if for each $k_1, k_2 \in K$ and for each $\lambda \in [0, 1]$, we have $k_2 + \lambda\rho(k_1, k_2) \in K$.

Definition (1.2) [41]. The set K is said to be an E -convex set if $\lambda Ek_1 + (1 - \lambda)Ek_2 \in K$, for each $k_1, k_2 \in K$ and $\lambda \in [0, 1]$.

Definition (1.3) [8]. The set K is said to be E -invex set with respect to ρ (for short, K is E -invex set), if $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K$, for each $k_1, k_2 \in K$ and $\lambda \in [0, 1]$.

Definition (1.4) [8]. Let K_1 and K_2 be two subsets of \mathbb{R}^n . Then, K_1 is called slack E -invex with respect to K_2 if, for each $k_1, k_2 \in K_1 \cap K_2$ and every $\lambda \in [0, 1]$ such that $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K_2$ we get $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K_1$.

Proposition (1.5) [8, 41]. If a set K is either E -convex or E -invex. Then, $E(K) \subseteq K$.

Definition (1.6) [2]. The function f is called exponentially E -convex on the E -convex set K , if for every $k_1, k_2 \in K$ and $\lambda \in [0, 1]$

$$e^{f(\lambda Ek_1 + (1-\lambda)Ek_2)} \leq \lambda e^{f(Ek_1)} + (1 - \lambda)e^{f(Ek_2)}.$$

Definition (1.7) [23]. The function f is named as exponentially E -preinvex on the E -invex set K with respect to ρ (for short, exponentially E -preinvex function), if for every $k_1, k_2 \in K$ and $\lambda \in [0,1]$

$$e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \lambda e^{f(Ek_1)} + (1 - \lambda)e^{f(Ek_2)}.$$

Definition (1.8) [37]. The epigraph set of a function f is given by $epif = \{(k, \gamma) \in K \times \mathbb{R} : e^{f(k)} \leq \gamma\}$.

In a similar manner, we define the epigraphs associated with the mapping E as follows.

Definition (1.9).

- i. $E - epif = \{(k, \gamma) \in K \times \mathbb{R} : e^{f(Ek)} \leq \gamma\}$.
- ii. $epi^E f = \{(Ek, \gamma) \in E(K) \times \mathbb{R} : e^{f(k)} \leq \gamma\}$.
- iii. $epi_E f = \{(Ek, \gamma) \in E(K) \times \mathbb{R} : e^{f(Ek)} \leq \gamma\}$.

With each epigraph defined in Definition 1.8 and Definition 1.9(i-ii), γ -level sets are associated, respectively, as follows.

Definition (1.10). Let $\gamma \in \mathbb{R}$. Then,

- i. $L_\gamma = \{k \in K : e^{f(k)} \leq \gamma\}$. [35]
- ii. $E-L_\gamma = \{k \in K : e^{f(Ek)} \leq \gamma\}$.
- iii. $L_\gamma^E = \{Ek \in E(K) : e^{f(k)} \leq \gamma\}$.

2. Exponentially semi E -preinvexity

In this section, a class of generalized convex functions is defined that includes exponentially semi and quasi semi E -preinvex functions. Two examples of an exponentially semi E -preinvex function and an exponentially quasi semi E -preinvex but not exponentially semi E -preinvex function are illustrated. Many properties are given for this class, ranging from algebraic properties to various conditions and characterizations of exponentially semi and quasi E -preinvex functions, using the certain assumptions, level sets, and epigraph sets of these functions.

Definition (2.1). Let K be E -invex set. Then, the function f is called

1. Exponentially semi E -preinvex function on K with respect to ρ (for short, exponentially semi E -preinvex function), if for each $k_1, k_2 \in K$, and each $\lambda \in [0,1]$

$$e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \lambda e^{f(k_1)} + (1 - \lambda)e^{f(k_2)}.$$

2. Exponentially quasi semi E -preinvex on K with respect to ρ (for short, exponentially quasi semi E -preinvex function), if for every $k_1, k_2 \in K$ and $\lambda \in [0,1]$

$$e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \max\{e^{f(k_1)}, e^{f(k_2)}\}.$$

Let us start with an example of exponentially semi E -preinvex function.

Example (2.2). Suppose that $K \subseteq \mathbb{R}^n$ is E -invex set contains zero vector and $f : K \rightarrow \mathbb{R}$ such that $f(x_1, \dots, x_n) = ax_2$ where $a > 0$. If $E : \mathbb{R}^n \rightarrow \mathbb{R}^n$ such that $E(x_1, \dots, x_n) = (x_1 + 2, x_2, \dots, x_n)$ and $\rho : \mathbb{R}^n \times \mathbb{R}^n \rightarrow \mathbb{R}^n$ is defined as $\rho(x, y) = x - y \quad \forall x = (x_1, \dots, x_n), y = (y_1, \dots, y_n) \in \mathbb{R}^n$. To confirm that f is exponentially semi E -preinvex, let $x = (x_1, \dots, x_n), y = (y_1, \dots, y_n) \in K$ then $Ey + \lambda\rho(Ex, Ey) \in K$ and

$$e^{f(Ey + \lambda\rho(Ex, Ey))} = e^{f(\lambda x_1 + (1-\lambda)y_1 + 2, \lambda x_2 + (1-\lambda)y_2 + \dots + \lambda x_n + (1-\lambda)y_n)}$$

$$\begin{aligned}
&= e^{a\lambda x_2 + a(1-\lambda)y_2} \leq \lambda e^{ax_2} + (1-\lambda)e^{ay_2} \\
&= \lambda e^{f(x)} + (1-\lambda)e^{f(y)}
\end{aligned}$$

The above inequality holds for any $p, q > 0$ and $\lambda \in [0, 1]$. i.e., $p^\lambda q^{1-\lambda} \leq \lambda p + (1-\lambda)q$. Hence, f is exponentially semi E -preinvex function on K .

Exponentially quasi semi E -preinvex function is not necessarily exponentially semi E -preinvex function as the following example shows.

Example (2.3). Let $f, E: \mathbb{R} \rightarrow \mathbb{R}$ and $\rho: \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ are defined as follows

$$f(x) = \begin{cases} -3 & \text{if } x = 0 \\ 1 & \text{if } x \neq 0 \end{cases}, E x = \begin{cases} 0 & \text{if } x = 0 \\ 4 & \text{if } x \neq 0 \end{cases} \text{ and } \rho(x, y) = \begin{cases} 0, & x = y = 0 \\ y - x, & \text{otherwise} \end{cases}$$

Let $x, y \in \mathbb{R}$ then $Ey + \lambda\rho(Ex, Ey) \in \mathbb{R}$. First, let us prove the exponentially quasi semi E -preinvexity of f by considering the following possibilities:

$$\text{Case 1: If } x = y = 0, \text{ then } e^{f(Ey + \lambda\rho(Ex, Ey))} = e^{f(0)} = e^{-3} = \max\{e^{f(x)}, e^{f(y)}\}.$$

$$\text{Case 2: If } x \neq 0, y \neq 0, \text{ then } e^{f(Ey + \lambda\rho(Ex, Ey))} = e^{f(4)} = e^1 = \max\{e^{f(x)}, e^{f(y)}\}.$$

$$\text{Case 3: If } x = 0, y \neq 0, \text{ then } e^{f(Ey + \lambda\rho(Ex, Ey))} = e = \max\{e^{-3}, e^1\}.$$

$$\text{Case 4: If } x \neq 0, y = 0, \text{ then } e^{f(Ey + \lambda\rho(Ex, Ey))} = e^{f(4)} = e = \max\{e^1, e^{-3}\}.$$

In all cases, $e^{f(Ey + \lambda\rho(Ex, Ey))} = \max\{e^{f(x)}, e^{f(y)}\}$, and hence the exponentially quasi semi E -preinvexity of f is confirmed. The function f is not exponentially semi E -preinvex function, take $x = 0, y \neq 0$. Then,

$$e^{f(Ey + \lambda\rho(Ex, Ey))} = e^{f(-4)} = e > \lambda e^{f(x)} + (1-\lambda)e^{f(y)} = \lambda(e^{-3} - e) + e \text{ as required.}$$

Remark (2.4). For the rest of this section and unless otherwise stated, the set K is E -invex.

A necessary condition for a function to be exponentially semi E -preinvex is given below.

Proposition (2.5). Let f is exponentially semi E -preinvex. Then, $e^{f(Ek)} \leq e^{f(k)}$, for each $k \in K$.

Proof. From the assumption of f , we have

$$e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \lambda e^{f(k_1)} + (1-\lambda)e^{f(k_2)}$$

for arbitrary $k_1, k_2 \in K$, Choose $\lambda = 0$, we get $e^{f(Ek_2)} \leq e^{f(k_2)}$. ■

For an exponentially E -preinvex function, the necessary condition in the above proposition becomes sufficient as it is provided below.

Proposition (2.6). Assume that f is exponentially E -preinvex. Then, f is exponentially semi E -preinvex if and only if $e^{f(Ek)} \leq e^{f(k)}$, for each $k \in K$.

Proof. From Proposition 2.5, the direct implication is satisfied. Conversely, assume that f is exponentially E -preinvex and $e^{f(Ek)} \leq e^{f(k)}$, for $k \in K$. Then, for any $k_1, k_2 \in K$, we have

$$\begin{aligned}
e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} &\leq \lambda e^{f(Ek_1)} + (1-\lambda)e^{f(Ek_2)} \\
&\leq \lambda e^{f(k_1)} + (1-\lambda)e^{f(k_2)}.
\end{aligned}$$

Hence, f is exponentially semi E -preinvex. ■

The reverse implication of the proceeding proposition and the below example yield that exponentially E -preinvexity of a function is not exponentially semi E -preinvexity, in general.

Example (2.7). Consider K, f , and ρ are defined as in Example 2.2. Let $E: \mathbb{R}^n \rightarrow \mathbb{R}^n$ such that $E(x_1, \dots, x_n) = (x_1, x_2 + 2, \dots, x_n)$. Then, f is exponentially E -preinvex and not semi exponentially E -preinvex function. Indeed, let $x = (x_1, \dots, x_n), y = (y_1, \dots, y_n) \in K$ then $Ey + \lambda\rho(Ex, Ey) \in K$ and

$$\begin{aligned} e^{f(Ey + \lambda\rho(Ex, Ey))} &= e^{f(\lambda x_1 + (1-\lambda)y_1, \lambda(x_2+2) + (1-\lambda)(y_2+2) + \dots + \lambda x_n + (1-\lambda)y_n)} \\ &= e^{a\lambda(x_2+2) + a(1-\lambda)(y_2+2)} \leq \lambda e^{a(x_2+2)} + (1-\lambda)e^{a(y_2+2)} \\ &= \lambda e^{f(Ex)} + (1-\lambda)e^{f(Ey)} \end{aligned}$$

The above inequality holds for any $p, q > 0$ and $\lambda \in [0, 1]$.

i.e., $p^\lambda q^{1-\lambda} \leq \lambda p + (1-\lambda)q$. Thus, f is exponentially E -preinvex, however, it is not exponentially semi E -preinvex function. To show this, let $k = (0, \dots, 0) \in K \subseteq \mathbb{R}^n$ be a zero vector in \mathbb{R}^n then $e^{f(E(k))} = e^{2a} > e^{f(k)} = e^0$. Thus, from Proposition 2.5, f is not exponentially semi E -preinvex function.

The relation between exponentially semi (resp., quasi semi) E -preinvex functions and the level set L_γ are shown next.

Proposition (2.8). For any $\gamma \in \mathbb{R}$,

1. The level set L_γ of the exponentially semi E -preinvex function f is E -invex set.
2. L_γ is E -invex set if and only if the function f is exponentially quasi semi E -preinvex.

Proof. To show (1), choose arbitrary $k_1, k_2 \in L_\gamma$ then $e^{f(k_1)} \leq \gamma$ and $e^{f(k_2)} \leq \gamma$. From the assumptions, $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K$ and

$$\begin{aligned} e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} &\leq \lambda e^{f(k_1)} + (1-\lambda)e^{f(k_2)} \\ &\leq \lambda\gamma + (1-\lambda)\gamma = \gamma. \end{aligned}$$

Then, $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in L_\gamma$. Next, we show (2), since K is E -invex set then, for any $k_1, k_2 \in K$, $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K$. Let $\gamma = \max\{e^{f(k_1)}, e^{f(k_2)}\}$, then $k_1, k_2 \in L_\gamma$. Now, assume that L_γ is E -invex set then $e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \gamma = \max\{e^{f(k_1)}, e^{f(k_2)}\}$. The last inequality yields the exponentially quasi semi E -preinvexity of f . Conversely, let f is exponentially quasi semi E -preinvex. Then, for any $k_1, k_2 \in L_\gamma$, $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K$, $e^{f(k_1)} \leq \gamma$, $e^{f(k_2)} \leq \gamma$, and

$$e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \max\{e^{f(k_1)}, e^{f(k_2)}\} \leq \gamma. \text{ Thus, } Ek_2 + \lambda\rho(Ek_1, Ek_2) \in L_\gamma \text{ and the set } L_\gamma \text{ is } E\text{-invex. } \blacksquare$$

In the next proposition, the relationship between exponentially semi E -preinvex and its level set L_γ^E are provided.

Proposition (2.9). Assume that $E(K)$ is E -invex set with respect to $E \circ \rho$. If f is exponentially semi E -preinvex and E is idempotent and linear. Then,

1. L_γ^E is E -invex set with respect to $E \circ \rho$, for all $\gamma \in \mathbb{R}$.
2. L_γ^E is slack- E -invex with respect to $E(K)$, for all $\gamma \in \mathbb{R}$.

Proof. Let $\gamma \in \mathbb{R}$. To prove part (1), let $Ek_1, Ek_2 \in L_\gamma^E$, i.e., $k_1, k_2 \in K$ such that $e^{f(k_1)} \leq \gamma$ and $e^{f(k_2)} \leq \gamma$. Since $Ek_1, Ek_2 \in E(K)$ and $E(K)$ is E -invex with respect to $E \circ \rho$, we have

$$E^2k_2 + \lambda(E \circ \rho)(E^2k_1, E^2k_2) \in E(K).$$

Since E is idempotent and linear, we get

$$E(Ek_2 + \lambda\rho(Ek_1, Ek_2)) \in E(K). \quad (1)$$

Since f is exponentially semi E -preinvex, then

$$\begin{aligned} e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} &\leq \lambda e^{f(k_1)} + (1 - \lambda)e^{f(k_2)} \\ &\leq \lambda\gamma + (1 - \lambda)\gamma = \gamma. \end{aligned} \quad (2)$$

From (1) and (2), we get the required conclusion. Now, we prove part (2), let $Ek_1, Ek_2 \in L_\gamma^E \cap E(K)$ such that

$$E^2k_2 + \lambda(E \circ \rho)(E^2k_1, E^2k_2) \in E(K)$$

Using the same procedure of part (1), we get

$$E^2k_2 + \lambda(E \circ \rho)(E^2k_1, E^2k_2) \in L_\gamma^E.$$

This shows L_γ^E is slack- E -invex with respect to $E(K)$. ■

Two characterizations of the exponentially quasi semi E -preinvexity of f and $f \circ E$ using L_γ^E and $E-L_\gamma$ respectively, are shown next.

Proposition (2.10). Let $E(K)$ is E -invex with respect to $E \circ \rho$ and E is idempotent and linear mapping. Then, L_γ^E is E -invex set with respect to $E \circ \rho$ for all $\gamma \in \mathbb{R}$ if and only if f is exponentially quasi semi E -preinvex.

Proof. To show the direct implication, let $k_1, k_2 \in K$ and by setting $\gamma = \max\{e^{f(k_1)}, e^{f(k_2)}\}$. Then $Ek_1, Ek_2 \in L_\gamma^E$ and $e^{f(k_1)} \leq \gamma$ and $e^{f(k_2)} \leq \gamma$. From the E -invexity of L_γ^E with respect to $E \circ \rho$, we get

$$E^2k_2 + \lambda(E \circ \rho)(E^2k_1, E^2k_2) \in L_\gamma^E \quad \text{for any } \gamma \in \mathbb{R}.$$

The assumptions on E yield $E(Ek_2 + \lambda\rho(Ek_1, Ek_2)) \in L_\gamma^E$.

Applying now the definition of L_γ^E to get

$$e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \gamma = \max\{e^{f(k_1)}, e^{f(k_2)}\}.$$

Then, f is exponentially quasi semi E -preinvex. Now, we prove the reverse direction. Let $\gamma \in \mathbb{R}$ and $Ek_1, Ek_2 \in L_\gamma^E$ then $Ek_1, Ek_2 \in E(K)$ and $e^{f(k_1)} \leq \gamma$ and $e^{f(k_2)} \leq \gamma$. From the invexity of $E(K)$ with respect to $E \circ \rho$, we get

$$E^2k_2 + \lambda(E \circ \rho)(E^2k_1, E^2k_2) = E(Ek_2 + \lambda\rho(Ek_1, Ek_2)) \in E(K), \quad (3)$$

where in (3), the assumptions on E are used. From the exponentially quasi semi E -preinvexity of f and the fact that $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K$, then

$$e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \max\{e^{f(k_1)}, e^{f(k_2)}\} \leq \gamma \quad (4)$$

From (3) and (4), we get the required conclusion. ■

Proposition (2.11). The function $f \circ E$ is exponentially quasi semi E -preinvex function if and only if $E-L_\gamma$ is E -invex set for all $\gamma \in \mathbb{R}$.

Proof. First, we show that $E-L_\gamma$ is E -invex set. For all $\gamma \in \mathbb{R}$ and $k_1, k_2 \in E-L_\gamma$ then $e^{f(Ek_1)} \leq \gamma$ and $e^{f(Ek_2)} \leq \gamma$, i.e., $e^{(f \circ E)(k_1)} \leq \gamma$ and $e^{(f \circ E)(k_2)} \leq \gamma$. Since $k_1, k_2 \in K$ and K is E -invex set, we have

$$Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K \quad (5)$$

From the exponentially quasi semi E -preinvex of $f \circ E$, we get

$$e^{(f \circ E)(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \max\{e^{(f \circ E)(k_1)}, e^{(f \circ E)(k_2)}\} \leq \gamma. \quad (6)$$

Then by (5) and (6), we get $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in E-L_\gamma$. Therefore, $E-L_\gamma$ is E -invex set for all $\gamma \in \mathbb{R}$. Let us now show that $f \circ E$ is exponentially quasi semi E -preinvex. Let $k_1, k_2 \in K$. Since K is E -invex set, we have

$Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K$. Set $\gamma = \max\{e^{(f \circ E)(k_1)}, e^{(f \circ E)(k_2)}\}$. Since $E-L_\gamma$ is E -invex, we get

$$e^{(f \circ E)(Ek_2 + \lambda\rho(Ek_1, Ek_2))} \leq \gamma = \max\{e^{(f \circ E)(k_1)}, e^{(f \circ E)(k_2)}\}$$

This shows $f \circ E$ is exponentially quasi semi E -preinvex. ■

For the rest of this section, some characterizations and properties of exponentially semi E -preinvex functions using the epigraph sets defined in Definitions 1.9 -1.10 are shown. First, a characterization of exponentially semi E -preinvex function using the $E \times I$ invexity of $epif$ is presented below.

Proposition (2.12). The function f is exponentially semi E -preinvex if and only if $epif$ is $E \times I$ -invex on $K \times \mathbb{R}$ with respect to $\rho \times \rho_\circ$ where $\rho_\circ: \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ defined as $\rho_\circ(\eta, \omega) = \eta - \omega$ for all $\eta, \omega \in \mathbb{R}$.

Proof. Let $(k_1, \eta), (k_2, \omega) \in epif$ such that $e^{f(k_1)} \leq \eta$, $e^{f(k_2)} \leq \omega$. Since f is exponentially semi E -preinvex function. Then,

$$\begin{aligned} e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} &\leq \lambda e^{f(k_1)} + (1 - \lambda)e^{f(k_2)} \\ &\leq \lambda\eta + (1 - \lambda)\omega, \end{aligned}$$

This implies,

$$(Ek_2 + \lambda\rho(Ek_1, Ek_2), \lambda\eta + (1 - \lambda)\omega) \in epif \quad (15)$$

Now, $\lambda\eta + (1 - \lambda)\omega = \omega + \lambda(\eta - \omega) = I(\omega) + \lambda\rho_\circ(I(\eta), I(\omega))$.

where $\rho_\circ(\eta, \omega) = \eta - \omega$. Thus, we re-write (15) as

$(Ek_2 + \lambda\rho(Ek_1, Ek_2), I(\omega) + \lambda\rho_\circ(I(\eta), I(\omega))) \in epif$. Thus, $epif$ is $E \times I$ invex on $K \times \mathbb{R}$ with respect to $\rho \times \rho_\circ$. Conversely, let $epif$ is $E \times I$ -invex set on $K \times \mathbb{R}$ with respect to $\rho \times \rho_\circ$ and $k_1, k_2 \in K$, then $(k_1, e^{f(k_1)}), (k_2, e^{f(k_2)}) \in epif$ and

$$(Ek_2 + \lambda\rho(Ek_1, Ek_2), I(e^{f(k_2)}) + \lambda\rho_\circ(I(e^{f(k_1)}) - I(e^{f(k_2)}))) \in epif$$

i.e., $(Ek_2 + \lambda\rho(Ek_1, Ek_2), e^{f(k_2)} + \lambda\rho_\circ(e^{f(k_1)} - e^{f(k_2)})) \in epif$

Using the definition of ρ_\circ , the last expression yields

$$(Ek_2 + \lambda\rho(Ek_1, Ek_2), \lambda e^{f(k_1)} + (1 - \lambda)e^{f(k_2)}) \in epif$$

which implies that $e^{Ek_2+\lambda\rho(Ek_1,Ek_2)} \leq \lambda e^{f(k_1)} + (1-\lambda)e^{f(k_2)}$. Hence, f is exponentially semi E -preinvex. ■

Next, a characterization is proposed for the exponentially E -preinvex function f to be semi E -preinvex functions by employing the relation between $epi f$ and E - $epi f$.

Proposition (2.13). Let f is exponentially E -preinvex function. Then, $epi f \subset E - epi f$ if and only if f is exponentially semi E -preinvex function.

Proof. Assume that $k_1, k_2 \in K$ and $(k_1, e^{f(k_1)}), (k_2, e^{f(k_2)}) \in epi f \subset E - epi f$, thus $(k_1, e^{f(k_1)}), (k_2, e^{f(k_2)}) \in E - epi f$. i.e., $e^{f(Ek_1)} \leq e^{f(k_1)}$ and $e^{f(Ek_2)} \leq e^{f(k_2)}$. Since f is exponentially E -preinvex function, then we have

$e^{f(Ek_2+\lambda\rho(Ek_1,Ek_2))} \leq \lambda e^{f(Ek_1)} + (1-\lambda)e^{f(Ek_2)} \leq \lambda e^{f(k_1)} + (1-\lambda)e^{f(k_2)}$. Hence, f is exponentially semi E -preinvex function. To show the reverse direction, assume that f is exponentially semi E -preinvex function and we show that $epi f \subset E - epi f$. Let $(k, \alpha) \in epi f$ then $k \in K$ and $e^{f(k)} \leq \alpha$. Since f is exponentially semi E -preinvex function then from Proposition 2.6 and the definition of $epi f$, we have $e^{f(Ek)} \leq e^{f(k)} \leq \alpha$ for all $k \in K$. Thus, $(k, \alpha) \in E - epi f$, hence, $epi f \subset E - epi f$. ■

In what follows, different sufficient conditions are introduced to have f exponentially semi E -preinvex functions using different epigraph sets.

Proposition (2.14). If $E(K)$ be invex set with respect to ρ , $epi f \subset E - epi f$, and $epi_E f$ is invex set with respect to $\rho \times \rho_\circ$ where $\rho_\circ: \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ such that $\rho_\circ(\eta, \omega) = \eta - \omega$ for all $\eta, \omega \in \mathbb{R}$. Then, f is exponentially semi E -preinvex function.

Proof. Let $k_1, k_2 \in K$ and $(k_1, e^{f(k_1)}), (k_2, e^{f(k_2)}) \in epi f \subset E - epi f$. Thus, $e^{f(Ek_1)} \leq e^{f(k_1)}$, $e^{f(Ek_2)} \leq e^{f(k_2)}$ which yields $(Ek_1, e^{f(k_1)}), (Ek_2, e^{f(k_2)}) \in epi_E f$. From the invexity of $E(K)$ and $epi_E f$, we get

$Ek_2 + \lambda\rho(Ek_1, Ek_2) \in E(K) \subseteq K$ and

$$(Ek_2 + \lambda\rho(Ek_1, Ek_2), e^{f(k_2)} + \lambda\rho_\circ(e^{f(k_1)}, e^{f(k_2)})) \in epi_E f.$$

Then,

$$e^{f(Ek_2+\lambda\rho(Ek_1,Ek_2))} \leq e^{f(k_2)} + \lambda\rho_\circ(e^{f(k_1)}, e^{f(k_2)}) = \lambda e^{f(k_1)} + (1-\lambda)e^{f(k_2)}.$$

Hence, f is exponentially semi E -preinvex function. ■

Proposition (2.15). If $e^{f(Ek)} \leq e^{f(k)} \forall k \in K$ and $epi^E f$ is invex set with respect to $\rho \times \rho_\circ$. Then, f is exponentially semi E -preinvex function.

Proof. Let $k_1, k_2 \in K$ and $(Ek_1, e^{f(k_1)}), (Ek_2, e^{f(k_2)}) \in epi^E f$ which is invex set with respect to $\rho \times \rho_\circ$

$$(Ek_2 + \lambda\rho(Ek_1, Ek_2), e^{f(k_2)} + \lambda\rho_\circ(e^{f(k_1)}, e^{f(k_2)})) \in epi^E f \subseteq E(K) \times \mathbb{R}.$$

Since $Ek_2 + \lambda\rho(Ek_1, Ek_2) \in E(K)$ then there exists $w \in K$ such that $Ew = Ek_2 + \lambda\rho(Ek_1, Ek_2) \in E(K)$ and

$$e^{f(w)} \leq e^{f(k_2)} + \lambda\rho_\circ(e^{f(k_1)}, e^{f(k_2)}) = \lambda e^{f(k_1)} + (1-\lambda)e^{f(k_2)}. \quad (8)$$

From the assumption and the inequality in (8)

$$e^{Ek_2+\lambda\rho(Ek_1,Ek_2)} = e^{f(Ew)} \leq e^{f(w)} \leq \lambda e^{f(k_1)} + (1-\lambda)e^{f(k_2)}.$$

Hence, f is exponentially semi E -preinvex function on K . ■

Proposition (2.16). Assume that $E(K)$ is invex set with respect to ρ , $e^{f(Ek)} \leq e^{f(k)} \quad \forall k \in K$, and $epi f$ is slack invex with respect to $E(K) \times \mathbb{R}$. Then, f is exponentially semi E -preinvex function.

Proof. Let $k_1, k_2 \in K$, and $(E k_1, e^{f(E k_1)}), (E k_2, e^{f(E k_2)}) \in epi f \cap E(K) \times \mathbb{R}$

Since $E(K)$ is invex set with respect to ρ , hence $E k_2 + \lambda \rho(E k_1, E k_2) \in E(K)$. Then

$$(E k_2 + \lambda \rho(E k_1, E k_2), \lambda e^{f(E k_1)} + (1 - \lambda) e^{f(E k_2)}) \in E(K) \times \mathbb{R},$$

which yields, from the slackness assumption, that

$$(E k_2 + \lambda \rho(E k_1, E k_2), \lambda e^{f(E k_1)} + (1 - \lambda) e^{f(E k_2)}) \in epi f$$

Thus, $e^{f(E k_2 + \lambda \rho(E k_1, E k_2))} \leq \lambda e^{f(E k_1)} + (1 - \lambda) e^{f(E k_2)}$, where the right inequality yields from the assumption $e^{f(Ek)} \leq e^{f(k)} \quad \forall k \in K$. Hence, f is exponentially semi E -preinvex function on K . ■

Proposition (2.17). Let $E - epi f$ is $E \times I$ - invex set with respect to $\rho \times \rho_\circ$ and $epi f \subset E - epi f$. If the mapping E is idempotent and linear. Then, f is exponentially semi E -preinvex function.

Proof. Let $k_1, k_2 \in K$ such that $(k_1, e^{f(k_1)}), (k_2, e^{f(k_2)}) \in epi f \subset E - epi f$.

Since $E - epi f$ is $E \times I$ -invex set with respect to $\rho \times \rho_\circ$, thus $(E k_2 + \lambda \rho(E k_1, E k_2), e^{f(k_2)} + \lambda \rho_\circ(e^{f(k_1)}, e^{f(k_2)})) \in E - epi f$ which yields

$$e^{f(E(E k_2 + \lambda \rho(E k_1, E k_2)))} \leq e^{f(k_2)} + \lambda \rho_\circ(e^{f(k_1)}, e^{f(k_2)}) = \lambda e^{f(k_1)} + (1 - \lambda) e^{f(k_2)}.$$

From the assumptions on E , the left hand side of the last inequality becomes $e^{f(E(E k_2 + \lambda \rho(E k_1, E k_2)))} = e^{f((E \circ E) k_2 + \lambda \rho((E \circ E) k_1, (E \circ E) k_2))}$,

$$= e^{f(E k_2 + \lambda \rho(E k_1, E k_2))}$$

$$\leq \lambda e^{f(k_1)} + (1 - \lambda) e^{f(k_2)}.$$

Hence, f is exponentially semi E -preinvex function. ■

3. Applications of Exponentially E -Preinvexity and Semi E -Preinvexity in Nonlinear Optimization Problems

In this section, we consider some applications of exponentially E -preinvex, semi exponentially E -preinvex, and exponentially quasi semi E -preinvex functions in optimization programming problem (P_E) defined below. Some optimality properties are satisfied under different conditions for the objective function $f \circ E$. To start, consider the nonlinear constrained optimization problem (P_E) as follows.

$$\min (f \circ E)(k)$$

$$\text{subject to } k \in K,$$

where K, f and E are defined as in section one.

Definition (3.1). The set of all global minima (or optimal solutions) of problem (P_E) is denoted by $argmin_K f \circ E$ and is defined as

$$argmin_K f \circ E = \{k^* \in K : (f \circ E)(k^*) \leq (f \circ E)(k) \quad \forall k \in K\}.$$

A global minimum $k^* \in K$ is said to be strict when

$$(f \circ E)(k^*) < (f \circ E)(k) \quad \text{for all } x \in K, k^* \neq k.$$

A point $k^* \in \mathbb{R}^n$ is called a local minimizer for problem (P_E) if there is exists $\delta > 0$ such that $(f \circ E)(k^*) \leq (f \circ E)(k) \quad \forall k \in B(k^*, \delta) \cap K$.

Remark (3.2). In all results of this section. If the function f in the optimization problem (P_E) is considered to be exponentially (or strictly) E -preinvex or strictly exponentially quasi semi E -preinvex on K , then it is assumed that the constraint set K is E -invex and invex and the mapping E is linear.

Under various assumptions on the functions f or $f \circ E$, every local minimum of the problem (P_E) is a global minimum, as we show below.

Theorem (3.3).

1. If f is exponentially E -preinvex. Then, every local minimum of problem (P_E) is a global minimum.
2. If $f \circ E$ is exponentially semi E -preinvex on the E -invex set K and k^* be a local minimum of problem (P_E) such that $k^* = Ek^*$. Then k^* is a global minimum.

Proof. To show (1), assume that f is exponentially E -preinvex on K and k^* is local minimum of problem (P_E) then, $k^* \in K$ and there exists $\delta > 0$ such that $e^{f(Ek^*)} \leq e^{f(Ek)}$ for all $k \in K \cap B(k^*, \delta)$. Suppose that k^* is not a global minimum, hence, there exists $k^o \in K$ such that $f(Ek^o) \leq f(Ek^*)$. i.e., $e^{f(Ek^o)} \leq e^{f(Ek^*)}$. Since $k^o, k^* \in K$ and K is invex set then $k^o + \lambda\rho(k^*, k^o) \in K$ and

$$Ek^o + \lambda\rho(Ek^*, Ek^o) = E(k^o + \lambda\rho(k^*, k^o)) \in K,$$

where we used, in the last expression, the linearity of E , the invexity and E -invexity of K as it is stated in Remark 3.2. From the assumptions on f and E with the fact that $e^{f(Ek^o)} \leq e^{f(Ek^*)}$, we have

$$\begin{aligned} e^{f(E(k^o + \lambda\rho(k^*, k^o)))} &= e^{f(Ek^o + \lambda\rho(Ek^*, Ek^o))} \leq \lambda e^{f(Ek^*)} + (1 - \lambda)e^{f(Ek^o)} \\ &\leq \lambda e^{f(Ek^*)} + (1 - \lambda)e^{f(Ek^*)} \\ &= e^{f(Ek^*)}. \end{aligned} \tag{9}$$

Now, for sufficiently small $\lambda \in (0,1]$ then $k^o + \lambda\rho(k^*, k^o)$ will be close enough to k^* . i.e., there exists $\delta > 0$ such that $k^o + \lambda\rho(k^*, k^o) \in B(k^*, \delta) \cap K$. From the local minimality of k^* , we get $f(Ek^*) \leq f(Ek^o + \lambda\rho(Ek^*, Ek^o))$. i.e., $e^{f(Ek^*)} \leq e^{f(Ek^o + \lambda\rho(Ek^*, Ek^o))}$ which contradicts (9). Thus, k^* is a global minimum. Next, we prove (2), since $k^* = Ek^*$ is a local minimum, then there exists $\delta > 0$ such that

$$(f \circ E)(k^*) \leq (f \circ E)(k) \quad \forall k \in K \cap B(k^*, \delta) = D.$$

Now, to show $(f \circ E)(k^*) \leq (f \circ E)(k)$, for any $k \in K/D$. On contrary, suppose there exists $k_0 \in K$ and $k_0 \notin B(k^*, \delta)$ where

$$(f \circ E)(k^*) > (f \circ E)(k_0). \tag{10}$$

Since K is E -invex and $f \circ E$ is exponentially semi E -preinvex, then $Ek^* + \lambda\rho(Ek_0, Ek^*) \in K$, and

$$e^{(f \circ E)(Ek^* + \lambda\rho(Ek_0, Ek^*))} \leq \lambda e^{(f \circ E)(k_0)} + (1 - \lambda)e^{(f \circ E)(k^*)}$$

Applying (10),

$$\begin{aligned} e^{(f \circ E)(Ek^* + \lambda\rho(Ek_0, Ek^*))} &< \lambda e^{(f \circ E)(k^*)} + (1 - \lambda)e^{(f \circ E)(k^*)} \\ &= e^{(f \circ E)(Ek^*)} = e^{(f \circ E)(k^*)} \end{aligned} \tag{11}$$

If $\rho(Ek_0, Ek^*) = 0$, then (11) becomes $e^{(f \circ E)(Ek^*)} < e^{(f \circ E)(k^*)}$, i.e., $(f \circ E)(Ek^*) < (f \circ E)(k^*)$ which contradicts the assumption. If now $\rho(Ek_0, Ek^*) \neq 0$, take λ small enough such that $Ek^* + \lambda\rho(Ek_0, Ek^*) \in B(k^*, \delta)$. From (11), this contradicts the local minimality of k^* . Hence, $(f \circ E)(k^*) \leq (f \circ E)(k)$ for any $k \in K / D$ as required. ■

Next result discusses the uniqueness of optimal solution of problem (P_E) under different three hypothesis.

Theorem (3.4).

1. If f is strictly exponentially E -preinvex on K . Then, the global minimum of problem (P_E) is unique.
2. If $f \circ E$ is strictly exponentially semi E -preinvex on the E -invex set K . Then the global optimal solutions of problem (P_E) is unique.
3. If f is strictly exponentially quasi semi E -preinvex on the E -invex set K and $Ek^* = k^*$ for any global optimal solution k^* . Then, the global minimum of (P_E) is unique.

Proof. Let us first proceed the proof of part (1). Let k_1, k_2 be two minima of problem (P_E) such that $k_1 \neq k_2$, thus $f(Ek_1) = f(Ek_2)$. i.e, $e^{f(Ek_1)} = e^{f(Ek_2)}$. From Remark 3.2, K is E -invex, K is invex, and E is linear, then

$$Ek_2 + \lambda\rho(Ek_1, Ek_2) = E(k_2 + \lambda\rho(k_1, k_2)) \in E(K) \subseteq K,$$

thus, there exists $z \in K$ such that $z = k_2 + \lambda\rho(k_1, k_2) \in K$ where $z \neq k_1$ and $z \neq k_2$. Since f is exponentially strictly E -preinvex on K , then

$$\begin{aligned} e^{f(Ez)} &= e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} < \lambda e^{f(Ek_1)} + (1 - \lambda)e^{f(Ek_2)} \\ &= e^{f(Ek_1)} \end{aligned}$$

This means, $f(Ez) < f(Ek_1)$, hence z is a global minimum. This is contradiction. Thus, the global minimum is singleton. Next, we proof part (2), Let k_1, k_2 be two minima of problem (P_E) such that $k_1 \neq k_2$, thus $f(Ek_1) = f(Ek_2)$. i.e, $e^{f(Ek_1)} = e^{f(Ek_2)}$. From the E -invexity of K and the assumption on $f \circ E$, for each $\lambda \in (0,1)$, we get $z = Ek_2 + \lambda\rho(Ek_1, Ek_2) \in K$ where $z \neq k_1 (\neq k_2)$ and

$$\begin{aligned} e^{(f \circ E)(z)} &< \lambda e^{(f \circ E)(k_1)} + (1 - \lambda)e^{(f \circ E)(k_2)} \\ &= \lambda e^{(f \circ E)(k_1)} + (1 - \lambda)e^{(f \circ E)(k_1)} = e^{(f \circ E)(k_1)}, \end{aligned}$$

i.e., $(f \circ E)(z) < (f \circ E)(k_1)$ which contradicts the optimality of k_1 . Thus, the global minimum of problem (P_E) is unique. Lastly, we show (3), Let $k_1, k_2 \in K$ be two different global minima then $e^{f(Ek_1)} = e^{f(Ek_2)}$. Since E is fixed with respect to the global minima, then $f(Ek_1) = f(k_1) = f(k_2) = f(Ek_2)$. Since f is strictly exponentially quasi semi E -preinvex, then

$$e^{f(Ek_2 + \lambda\rho(k_1, Ek_2))} < \max\{e^{f(k_1)}, e^{f(k_2)}\} = e^{f(k_1)} = e^{f(Ek_1)}.$$

Since E is linear, the left-hand side of the inequality above can be written as

$$e^{f(E(k_2 + \lambda\rho(k_1, k_2)))} = e^{f(Ek_2 + \lambda\rho(Ek_1, Ek_2))} < e^{f(Ek_1)}. \quad (12)$$

The expression above is a contradiction. This is because K is invex and K is E -invex, then $E(k_2 + \lambda\rho(k_1, k_2)) \in K$. thus, there exists $z = (k_2 + \lambda\rho(k_1, k_2)) \in K$ where $z \neq k_1$ and $z \neq k_2$. Using the last conclusion with the inequality in (12), we obtain that $f(Ez) = f(E(k_2 + \lambda\rho(k_1, k_2))) < f(Ek_1)$. i.e., w is a global minimum which is a contradiction. Thus, $k_1 = k_2$. ■

References

- [1] N. Abdulaleem, "EB-invexity in E-differentiable mathematical Programming," *Results in Control and Optimization*, vol. 4, (2021), pp. 100046.
- [2] N. Abdulaleem, "Exponentially E -convex vector optimization problems," *Journal of Industrial and Management Optimization*, vol. 20, (2024), pp. 1-16.
- [3] G. Alirezaei, and R. Mathar, "On exponentially concave functions and their impact in information theory," *Information Theory and Applications Workshop (ITA)*. IEEE, (2018), pp. 1-10.
- [4] A. Ben-Israel, and B. Mond, "What is invexity?," *Journal of Australian Mathematical Society*, vol. 28, (1986) , pp. 1-9.

- [5] S. Chen, N. J. Huang, and D. O'Regan, "Geodesic B-preinvex functions and multiobjective optimization problems on Riemannian manifolds," *Journal of Applied Mathematics*, vol. 1, (2014), pp. 1-12.
- [6] X. Chen, "Some properties of semi E -convex functions," *Journal of Mathematical Analysis and Applications*, vol. 275, (2002), pp. 251-262.
- [7] M. E., Elbrolosy, "Semi (E, F) -convexity in complex programming Problems," *AIMS Mathematics*, vol. 7, (2022), pp. 11119-11131.
- [8] C. Fulga, and V. Preda, "Nonlinear programming with E -preinvex and local E -preinvex functions," *European Journal of Operational Research*, vol. 192, (2009), pp. 737-743.
- [9] M. A. Hanson, "On sufficiency of the Kuhn-Tucker conditions," *Journal of Mathematical Analysis and Applications*, vol. 80, (1981), pp. 545-550.
- [10] M. A. Hanson, and B. Mond, "Convex transformable programming problems and Invexity," *Journal of Information and Optimization Sciences*, vol. 8, (1987), pp. 201-207.
- [11] R. I. Hazim, and S. N. Majeed, (ρ, \mathbb{E}) -convex sets and (ρ, \mathbb{E}) -Convex functions with their properties. *AIP Conference Proceedings*, vol. 2591, (2023).
- [12] R. I. Hazim, and S. N. Majeed, "Some properties of semi (ρ, ε) -convexity," *Journal of Interdisciplinary Mathematics*, vol. 26, (2023), pp. 629-635.
- [13] B. Jaya, N. Sharma, S. K. Mishra, and A. Hamdi, "Some new integral inequalities for higher-order strongly exponentially convex functions," *Journal of Inequalities and Applications*, vol. 2023, (2023), pp. 41.
- [14] V. Jeyakumar, "Strong and weak invexity in mathematical programming," *European Journal of Operation Research*, vol. 55, (1985), pp. 237-254.
- [15] J.B. Jian, Q. J. Hu, and C. M., Tang "Semi- (E, F) -convex functions and semi- (E, F) -convex programming", *International Journal of Pure and Applied Mathematics*, vol. 14, (2004), pp. 437-451.
- [16] M. B. Khan, M. A. Noor, L. Abdullah, and Y. M. Chu, "Some new classes of preinvex fuzzy-interval-valued functions and inequalities," *International Journal of Computational Intelligence Systems*, vol. 14, (2021), pp. 1403-1418.
- [17] M. B. Khan, G. Santos-Garcia, M. A. Noor, and M. S. Soliman, "New class of preinvex fuzzy mappings and related inequalities," *Mathematics*, vol. 10, (2022), pp. 3753.
- [18] W. Liu, "New integral inequalities involving beta function via P -convexity", *Miskolc Math. Notes*, vol. 15, (2014), pp. 585-591.
- [19] S. N. Majeed, and M. I. Abd Al-Majeed, "On convex functions, E -convex functions and their generalizations: applications to non-linear optimization problems," *International Journal of Pure and Applied Mathematics*, vol. 116, (2017), pp. 655-673.
- [20] S. N. Majeed, "Fuzzy preinvexity via ranking value functions with applications to fuzzy optimization problems," *Journal of Interdisciplinary Mathematics*, vol. 22, (2019), pp. 1485-1494.
- [21] S. N. Majeed, and A. A. Enad, "On semi strongly (E, F) -convex functions and semi strongly (E, F) -convex optimization problems," *Journal of Physics: Conference Series*, vol. 1879, (2021), pp. 022110.
- [22] S. N. Majeed, "Strong Fenchel Duality For Evenly Convex Optimization Problems," *Journal of Applied Science and Engineering*, vol. 26, (2023), pp. 1723-1729.
- [23] S. N. Majeed, "New Class of Generalized Convex Functions and Its Applications to Optimization Problems," *Journal of Applied Science and Engineering*, vol. 28, (2024), pp. 709-716.
- [24] H. Martini, and K. J. Swanepoel, "Generalized convexity notions and combinatorial geometry," *Congr. Numer.*, vol. 164, (2003), pp. 65-93.
- [25] A. E. M. A. Megahed, H. G. Gomma, E. A. Youness, and A. Z. H. El-Banna, "A study on the duality of E -convex nonlinear programming problem," *International Journal of Mathematical Analysis*, vol. 7, (2013), pp. 175-185.
- [26] S. R. Mohan, and S. K. Neogy, "On invex sets and preinvex functions," *Journal of Mathematical Analysis and Applications*, vol. 189, (1995), pp. 901-908.
- [27] C. Niculescu, and L. E. Persson, *Convex functions and their applications*, New York: Springer, Vol. 23, (2006).
- [28] M. A. Noor, and K. I. Noor, "Some characterizations of strongly preinvex Functions," *Journal of Mathematical Analysis and Applications*, vol. 316, (2006), pp. 697-706.
- [29] M. A. Noor, "On Hadamard integral inequalities involving two log-preinvex functions," *Journal of Inequalities in Pure and Applied Mathematics*, vol. 8, (2007), pp. 1-14.
- [30] M. A., Noor, and K. I. Noor, "On exponentially convex functions," *Journal of Orisa Mathematical Society*, vol. 975, (2019a), pp. 2323.
- [31] M. A., Noor, and K. I. Noor, "Strongly exponentially convex functions and their properties," *Journal of Advanced Mathematical Studies*, vol. 12, (2019b), pp. 177-185.
- [32] M. A., Noor, and K. I. Noor, "Some properties of differentiable exponential convex functions," preprint, Math, Department, COMSATS university, Islamabad, Pakistan, (2019c).
- [33] M. A., Noor, and K. I. Noor, "New classes of strongly exponentially preinvex functions," *AIMS Math*, vol. 4, (2019d), pp. 1554-1568.
- [34] M. A., Noor, and K. I. Noor, and T. M. Rassias, "Relative strongly exponentially convex functions," *Nonlinear Analysis and Global Optimization*, vol. 167, (2021), pp. 357-371.
- [35] M. A., Noor, and K. I. Noor, "Some properties of exponentially preinvex functions," *FACTA Universit (NIS), Ser. Math. Inform.*, vol. 34, (2019e), pp. 941-955.
- [36] S. Pal, and T. K. L. Wong, "Exponentially concave functions and a new information geometry," *The Annals of probability*, vol. 46, (2018), pp. 1070-1113.
- [37] R. T. Rockafellar, *Convex analysis*, Princeton university press, (1997).
- [38] W. Saleh, "Hermite-Hadamard type inequality for (E, F) -convex functions and geodesic (E, F) -convex functions," *RAIRO-Operations Research*, vol. 56, (2022), pp. 4181-4189.
- [39] G. H. Toader, "Some generalizations of the convexity," *Proceedings of the Colloquium on Approximation and Optimization*. University of Cluj-Napoca, (1984).
- [40] T. Weir, and B. Mond, "Pre-invex functions in multiple objective optimization," *Journal of Mathematical Analysis and Applications*, vol. 136, (1988), pp. 29-38.
- [41] E. A. Youness, " E -convex sets, E -convex functions, and E -convex Programming," *Journal of Optimization Theory and Applications*, vol. 102, (1999), pp. 439-450.
- [42] E. A. Youness, "Stability in E -convex programming," *International Journal of Mathematics and Mathematical Sciences*, vol. 26, (2001), pp. 643-648.
- [43] Zh. M. Luo, J. B. Jian, "Some properties of semi E -preinvex maps in Banach spaces", *Nonlinear Analysis: Real World Application*, vol. 12, (2011), pp. 1243-1249.